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This is usually used about graphs. You should 
put a line (straight or curved) on a pair of 
axes. This may be a graph that has a line on 
it already or it may be pair of axes printed on 
the exam paper without a line or curve

Sketch

You should use a suitable measuring 
instrument to take a reading. Usually this 
involves using a ruler to measure to the 
nearest mm. Make sure you write down the 
unit after the numerical answer

Measure

Brief answer – maybe one word or 
a phrase

State

This is often used when there is no single correct 
answer; you should look through the information you 
have been given for some clues as to what to 
‘suggest’ in response to the question. Many 
problem-solving questions use this command word

Suggest

This is obvious; make sure you know how to 
calculate percentages, percentage changes, 
rates and ratios (for genetics). Always give 
your working even if not asked and always 
make sure you use the correct units

Calculate

This is not the same as describe. You should 
give an answer that has some reasons. You 
may have to explain why something 
happens or how it happens

ExplainYou may have to describe a process or  the 
appearance of a structure.  When describing data in 
a table or a graph, use the words increase, 
decrease, constant, peak, maximum, minimum, etc.

Describe

A number of brief answers should 
be given; usually you’re asked for 
a specific number of points. You 
don’t gain extra marks by writing 
more than the  number stated

List
Give a definition – use the 
definitions given in the IGCSE 
complete notes; or the definition 
list at the end of this book

Define

This means you should state what you think will 
happen. You may be asked to justify your prediction 
or explain it; explanation is not required if all the 
question says is “predict....”

Predict

You don’t have to give an accurate 
answer – but your answer (which is 
usually numerical) should only be 
approximate

Estimate
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1

Atom with same number of protons but 
different neutrons

53
53
78
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A - D - E

C, GAINED 2 ELECTRONS
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����ATOMIC STRUCTURE

CLICK FOR
EXPLANATION

2

B - F

Same protons but different neutrons

group number = valency electrons

the valency is the same as the number of valency 
(outer) electrons because this is the number of 
electrons lost (for full energy level)

the valency is 8 - [number of valency (outer) electrons]
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2 The table gives the composition of three particles.  

(a) What is the evidence in the table for each of the following?

(i) Particle A is an atom.

[1]

particle 
number of 

protons 

number of 

electrons 

number of 

neutrons 

A 15 15 16

B 15 18 16

C 15 15 17

�

�

����ATOMIC STRUCTURE

CLICK FOR
EXPLANATION

3

45
42 (protons + electrons)

same protons but different neutrons

Mg

same protons but different neutrons
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Chapter 3: Atomic Structure �
(ii) A, B and C are all particles of the same element.

[1]

(iii) Particles A and C are isotopes of the same element.

[2]

(b) (i) What is the electronic structure of particle A?

[1]

(ii) Is element A, a metal or a non-metal? Give a reason for your choice.

[1]

[Total: 6] 
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HOHFWURQ�

SDUWLFOH UHODWLYH�PDVV UHODWLYH�FKDUJH

SURWRQ

QHXWURQ

HOHFWURQ ����
�
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EXPLANATION

4

Same number of protons

same protons but different neutrons

2, 5 , 8 
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6XPPHU��������9DULDQW����4XHVWLRQ��
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����ATOMIC STRUCTURE

CLICK FOR
EXPLANATION

5

same number of protons. They can have different 
numbers of neutrons. 

same number of outer shell / valence electrons 

Number of protons in the nucleus of the atom

total number of protons and neutrons in the atom 
which equal to the mass number of this atom
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CLICK FOR
EXPLANATION

6

The total number of protons and neutrons in the atom 
is equal to the mass number of this atom.

2,8,1
2,8,8

average mass of naturally occurring atoms of an element
compared to an atom of carbon-12

chlorine must have more than one isotope
the masses of these isotopes are averaged 
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:LQWHU��������9DULDQW����4XHVWLRQ��
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�LL� �:K\�GR�DOO�LVRWRSHV�RI�FDUERQ�KDYH�WKH�VDPH�FKHPLFDO�SURSHUWLHV"

������������������������������������������������������������������������������������������������������������������������������������������>�@

�F� �1DPH�WZR�IRUPV�RI�WKH�HOHPHQW�FDUERQ�ZKLFK�KDYH�JLDQW�FRYDOHQW�VWUXFWXUHV�

���������������������������������������������������������������DQG����������������������������������������������������������������������������>�@

6XPPHU��������9DULDQW����4XHVWLRQ��

�� �7KLV�TXHVWLRQ�LV�DERXW�VXEDWRPLF�SDUWLFOHV�

�D� �HILQH�WKH�WHUPV
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same protons and electrons

different neutrons

same number of valence electrons

diamond graphite

number of protons in the nucleus of an atom

The total number of protons and neutrons in 
the atom is equal to the mass number of this 
atom.

Get the Full Package:
Questions, Notes

Answers & Explanations

Get the Full Package:
Questions, Notes

Answers & Explanations

https://youtu.be/AG2njTTkAd8?t=1359
https://www.chem-bio.info/classified-past-papers-igcse
https://www.chem-bio.info/classified-past-papers-igcse


Chapter 3: Atomic Structure �

�E� �:K\�LV�WKH���+�K\GURJHQ�DWRP�WKH�RQO\�DWRP�WR�KDYH�DQ�LGHQWLFDO�SURWRQ�QXPEHU�DQG�QXFOHRQ
QXPEHU"

�����������������������������������������������������������������������������������������������������������������������������������������������������

�������������������������������������������������������������������������������������������������������������������������������������������������>�@

�� �&DUERQ�DQG�VLOLFRQ�DUH�HOHPHQWV�LQ�*URXS�,9�RI�WKH�3HULRGLF�7DEOH��%RWK�FDUERQ�DQG�VLOLFRQ�H[LVW�DV�
PRUH�WKDQ�RQH�LVRWRSH�

�D� �HILQH�WKH�WHUP� ���������

�����������������������������������������������������������������������������������������������������������������������������������������������������

�������������������������������������������������������������������������������������������������������������������������������������������������>�@

�E� �&RPSOHWH�WKH�IROORZLQJ�WDEOH�ZKLFK�JLYHV�LQIRUPDWLRQ�DERXW�FDUERQ�DWRPV�DQG�VLOLFRQ�DWRPV�

FDUERQ VLOLFRQ

SURWRQ�QXPEHU

HOHFWURQLF�VWUXFWXUH

QXFOHRQ�QXPEHU �� ��

QXPEHU�RI�QHXWURQV�LQ�RQH�DWRP

>�@

6XPPHU��������9DULDQW����4XHVWLRQ��
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�D� �$QVZHU�WKH�IROORZLQJ�TXHVWLRQV�XVLQJ�DWRPV�IURP�WKH�OLVW��(DFK�DWRP�PD\�EH�XVHG�RQFH��PRUH
WKDQ�RQFH�RU�QRW�DW�DOO�

�6HOHFW�RQH�DWRP�IURP�WKH�VL[�VKRZQ�ZKLFK

�L� KDV�H[DFWO\�VHYHQ�SURWRQV�

������������������������������������������������������������������������������������������������������������������������������������������>�@

�LL� KDV�H[DFWO\�VL[�QHXWURQV�
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hydrogen is the only atom to have no neutrons

Atoms of the same element with same protons but 
different neutrons

J

E
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�LLL� KDV�PRUH�SURWRQV�WKDQ�QHXWURQV�
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�LY� KDV�WKH�HOHFWURQLF�VWUXFWXUH�>���@�
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Atoms of the same element with same protons but 
different neutrons

E & G

Same number of valence electrons 
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�:LQWHU���������9DULDQW����4XHVWLRQ��
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7KH�WDEOH�JLYHV�LQIRUPDWLRQ�DERXW�ILYH�SDUWLFOHV��7KH�SDUWLFOHV�DUH�DOO�DWRPV�RU�LRQV�

SDUWLFOH number of
SURWRQV

number of
neutrons

number of
HOHFWURQV

A 6 8 6

B 12 12 12

C 13 14 10

D 8 8 10

E 11 12 11

�$QVZHU�WKH�IROORZLQJ�TXHVWLRQV�XVLQJ�WKH�LQIRUPDWLRQ�LQ�WKH�WDEOH�
�(DFK�SDUWLFOH�PD\�EH�XVHG�RQFH��PRUH�WKDQ�RQFH�RU�QRW�DW�DOO�

(a) �:KLFK�SDUWLFOH��A��B��C��D or E�

(i) �LV�DQ�DWRP�ZLWK�DWRPLF�QXPEHU����

����������������������������������������������������������������������������������������������������������������������������������������  [1]

(ii) �LV�DQ�DWRP�ZLWK�QXFOHRQ�QXPEHU����

����������������������������������������������������������������������������������������������������������������������������������������  [1]

(iii) �LV�DQ�LRQ�ZLWK�D�SRVLWLYH�FKDUJH�

����������������������������������������������������������������������������������������������������������������������������������������  [1]

(iv) �KDV�RQO\�one�HOHFWURQ�LQ�LWV�RXWHU�VKHOO"

����������������������������������������������������������������������������������������������������������������������������������������  [1]

(b)  D�LV�DQ�LRQ�RI�DQ�HOHPHQW�

�,GHQWLI\�WKH�HOHPHQW�DQG�ZULWH�WKH�IRUPXOD�RI�D�

�����������������������������������������������������������������������������������������������������������������������������������������������  [2]

[Total: 6]
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A

C
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Oxygen O2-
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� �)OHURYLXP��)���DWRPLF�QXPEHU������ZDV�¿UVW�PDGH�LQ�UHVHDUFK�ODERUDWRULHV�LQ������

�D� �)OHURYLXP�ZDV�PDGH�E\�ERPEDUGLQJ�DWRPV�RI�SOXWRQLXP��3X��DWRPLF�QXPEHU�����ZLWK�DWRPV�RI
HOHPHQW�=�

Ɣ �7KH�QXFOHXV�RI�RQH�DWRP�RI�SOXWRQLXP�FRPELQHG�ZLWK�WKH�QXFOHXV�RI�RQH�DWRP�RI�HOHPHQW�=�
Ɣ �7KLV�IRUPHG�WKH�QXFOHXV�RI�RQH�DWRP�RI�IOHURYLXP�

�6XJJHVW�WKH�LGHQWLW\�RI�HOHPHQW�=�

�������������������������������������������������������������������������������������������������������������������������������������������������>�@

�E� �,Q�ZKLFK�SHULRG�RI�WKH�3HULRGLF�7DEOH�LV�ÀHURYLXP"

�������������������������������������������������������������������������������������������������������������������������������������������������>�@

�F� �3UHGLFW�WKH�QXPEHU�RI�RXWHU�VKHOO�HOHFWURQV�LQ�DQ�DWRP�RI�ÀHURYLXP�

�������������������������������������������������������������������������������������������������������������������������������������������������>�@

�G� �7ZR�LVRWRSHV�RI�IOHURYLXP DUH����)��DQG����)���7KH�QXFOHL�RI�ERWK�RI�WKHVH�LVRWRSHV�DUH�XQVWDEOH
DQG�HPLW�HQHUJ\�ZKHQ�WKH\�VSOLW�XS�

�L� �6WDWH�WKH�WHUP�XVHG�WR�GHVFULEH�LVRWRSHV�ZLWK�XQVWDEOH�QXFOHL�

������������������������������������������������������������������������������������������������������������������������������������������>�@

�LL� �&RPSOHWH�WKH�WDEOH�WR�VKRZ�WKH�QXPEHU�RI�SURWRQV��QHXWURQV�DQG�HOHFWURQV�LQ�WKH�DWRPV�RI
WKH�LVRWRSHV�VKRZQ�

LVRWRSH QXPEHU�RI�SURWRQV QXPEHU�RI�QHXWURQV QXPEHU�RI�HOHFWURQV

���)�

���)�

>�@

6XPPHU�������9DULDQW����4XHVWLRQ���

�� �D�� �7KH�WDEOH�JLYHV�LQIRUPDWLRQ�DERXW�VRPH�DWRPV�RU�LRQV��$��%�DQG�&�

�&RPSOHWH�WKH�WDEOH�

QXPEHU�RI
SURWRQV

QXPEHU�RI
HOHFWURQV

HOHFWURQLF
VWUXFWXUH FKDUJH

$ �� �� ���

% �� �

& �� ��� ±�

>�@

0DUFK�������9DULDQW����4XHVWLRQ���
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Calcium (114 - 94 = 20, which is the atomic number of Ca)

7

7
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A substance made of atoms with the same atomic number

fluorine
hydorogen 

vanadium

sulfur
phosphorus 
magnesium 

chlorine

potassium 
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